Efficiency vs Dxy(PV)
1 -

0.8]

0.6]

efficiency vs dxy(PV)

0.4

0.2]

Ratio
v

0GE5=15-10 -5

5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_TToriginal
—— DQM_mKFit_TT_pL
—— DQM_mkFit_TT_pLW
—— DQM_mkFit_TT pLW_IMP

Ratio
r

Efficiency vs Dz(PV)

0 O 6 08 1
TP dxy(PV) (cm)

s lo— r r
o L . . :
§ f : : : :
Y 1— --:--- -l-(}:)--.r%--m:- B
> I . . .
> r . i .
o r . . .
E} 0.8f----- S '%‘.' e
s : :
E r H . .
(5] o . . .
0.6 wirereretee R | R REEE
] B30 ERCREERR SELLE
0.2f--nn ke T EEE-TERPRI TETS
I i i i | i
o+® : : :
T . : :
14 . . .
| | AR S
0¥ =20 -0 0 10 20 30

Efficiency vs Dz(PV)

=

TP dz(PV) (cm)

S 12—
a [

§F P

e T

z [

& o8-t

Kl [ H

5 ] :

0.6f- :

0.4} ;

e R ILCEIITIOCTEPRTEY | FRRIES
P R T
g I

] Ja :
s R o
ol i
0. =) )




	Contents
	Page 1


